Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering - SEMESTER-I1 « EXAMINATION — SUMMER - 2014

Subject Code: 320013 Date: 03-07-2014
Subject Name: Mechanical Operation (CEO - 1)
Time: 10:30 am - 01:00 pm Total Marks: 70

Instructions:
1. Attempt any five questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.

Q.1 (a) Define unit operation, shape factor and bulk density.
(b) Describe construction and working of Grizzly.

Q.2 (a) Explain Rittinger’s law, Bond’s law and Work Index.
(b) Explain principle, construction and working of cyclone separator.
OR
(b) Classify equipments for filtration.

Q.3 (@) Explain Open circuit and Closed circuit grinding.
(b) Describe construction and working of Jaw crusher.
OR
Q.3 (& Write down principle , construction and working of Gravity thickner
(b) Explain differential settling method.

Q.4 (&) Write ashort note on Froth flotation cell.
(b) Write down principle, working and construction of Agitation vessel
OR
Q.4 (a) Describe muller mixer
(b) Gives faults in screening.

Q.5 (a Write down principle, working and construction of Rotary vacuum filter.
(b) A mixture having a certain screen analysis is screened through standard 10
mesh screen . Calculate (1) The mass ratio of overflow and underflow to
feed (2) The effectiveness of the screen.
Data: Dp= Dy =1.651 mm Xg= 0.45 and Xp= 0.87 and Xg=
0.19(Cumulative mass fraction.)

OR
Q5 (@ Find out the critical speed of the ball mill:
Data: Diameter of the ball mill =500 mm and Diameter of the ball = 30 mm.

(b) What is filter aid? Which materials are used as filter aid ? Which are method
of its application?

*khkkkkhkiikkkik

1/2

07
07

07
07
07
07
07
07
07
07
07
07
07

07
07

07

07



Ud. 1

Y. R

U4 3

U4, 3

U ¥

U ¥

A v

g g £ £

oAl
Yolle UL, AU F522 Wl ees SRRl carvaul wul.
N cloll 2ustl al 512l Usdl alal.

Adlogall oflan, olisell oflan wal ab Sodsoll UMl A,

ALASCAt AUl Rgict, Al Al 5121 ugdl aslal.
Yl

o (3C2alot Mol Ultolle] cd[s0L 53,

£ £

g g £ £

g g £ £

UUot A5 Ual sAlRs UlBe WBEolell AHgAl 2.
%l 52R06{l UL Aal 5121 ugdl aslal

Ul
A(A2 @selRell Rgic,2Uell al 5121 Ugcll AVl
SlgR2llact Ae(@ot uscloll AxogAl 4.

slal scAlle2lot AA UR 5ol M.

W22Uol AUAAA Rgict,AAL Aal 51l Uugdl aulal.
Yl

yer HlaRol Al 2.

lo{lotell Wil umestAl.

Ae3 Asyu (3eeell Rsic,RAUsll wal st ugdl aglal.

09
09

09
09

09

09
09

09
09

09
09

09
09

09
09

10 N2l is$ wlaiell Hlstale] Wlet Wottcllll scuul 2d 8.
(V)R SA ol oS Al WA §ls oll H 20 AA () Slotall
8¥s3laaue(l oLl 5.

(Qotct: D, = D, =1.651 (A Xp- 0.45 and Xp= 0.87 and Xg= 0.19(§4AEls
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